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2019
B.A. 1st Semester Examination

PHILOSOPHY l(anours)
Paper : GE 1-T

Ethics : Indian and Western or Western Logic

Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers in their

own words as far as practicable.

Group-A
1. Answer any ten of the followings : 10x2=20
(a) What is varnadharma ? 2
(b) What is rta ? ' 2
(¢) What are the different rnas ? 2
(d) What ére the four noble truths in Bauddha
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philosophy ? 2.
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In Indian ethics, what is the relation between

dharma and moksa ? 5/

What are the purusarthas admitted by the carvaka
school ? 2

What is Sakama Karmzi ? 2

Distinguish between right action and good action.

2
What is meant by ‘free will® ? 2
What is meant by moral judgement ? 2

“We all desire pleasure ; therefore pleasure in

desirable—who advanced this argument ? 2

Which theory of punishment justifies the law of

‘an eye for an eye and tooth for a tooth’ 2 2

Who said that we ought to obey the moral law ?
2

What is ‘duration’, according to Bentham ? 2

Mention the different theories of punishment. 2
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Group-B
2. Answer any four of the followings : 4x5=20
(a) What is purusartha ? Explain the concept of
moksa as purusartha. +o
(b) What is ahimsa ? Explain the nature of ahimsa
' after Buddhism. +9
(¢) Explain the ‘Wheel of Existence’ according to
Bauddha Philosophy. 5
(d) What is hedonism. Explain the paradox of
hedonism. ' L+9
(e) What is moral standard ? Explain the main tenets
of Utilitariavism ? 3+8
() Wnat is punishment ? ‘Briefly explain the
preventine theory of punishment. 349
Group-C
3. Answer any two of the followings : 10x2=20
(a) What js nirvana ? Explain the means of attaining

17734000

nirvana. 248
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(4)

(b) What are the four ends of human life ? Explain
this interrelation. 2+8
(¢) Ciritically explain Kant’s moral theory. 10
(d) Critically explain the retributive theory of
punishment. ' 10
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Western Logic

Full Marks : 60 Time . 3 Hours
Group-A

1. Answer any ten of the followings : 10x2=20

(a) What is the relation between truth and validity ?

(b)

()

(d)

(e)
()

(g)
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2
Explain briefly the different senses of “or’. 2

Explain and illustrate the difference between a

simple statement and a compound statement. 2

Give the contrapositives. of the following

Proposi‘ions
(i) Some non-Americans are non-Indians.
(i1) All Physicists are philosophers. 1+#]

What is conversion by limitation ? - 2
What s meant by matenal tmplication ? 2

What is obversion ? Give example. 2
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9)
What are the two claims made by Mill about his

methods ? ' 2

Determine the characteristic of the following

statement—form by means of truth table. 2
[Po>(PoP))>P

Mention the rule of syllogism in violation of
which there occurs existential fallacy. 2

What is meant by “argument™ 7 2,

Which terms are distributed in categorical
proposttions ?
Is contraposition of E proposition valid ? give

reasons in favour of your answer. 1+1
What fallacy occurs in the following for‘m of
syllogism.

AAA-2nd figure i
Express the following in Boolean notation and

symbolise in venn diagram—Fverything is mortal.
1+1
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Group-B

2. Answer any four of the followings : 4x5=20

(a)

(b)

(©)

(d)

(e)
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Explain the difference between traditional view
and the modern view regarding the square of

oppositions. 5

Use truth tables to determine the validity or
invalidity of the following argument.

(a) U D (VvW) ‘
Y (V.W)D~U/ . ~U 5

Test the validity of the following syllogistic form

by means of venn diagram. 2¥+ls=5
(a) EIO—4

{(b) OAO--3, 5
Lxplain Mills method of Agreement. - 5

It A and B are true and X and Y are false, find out

the truth values of the following : (any fwo) 5

(1) (A.X)(B.Y)
(i) ~ (B v Z). (A.X)

(i) ~A V (B.C)
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¢ 1)

Reduce the following sentences to standard form
of Categorical proposition and mention their

quality and quantity. («ny Hwo) : 3
(i) She never drives her car to work.
(ii) Any man is a cowerd who deserts.
(iii) Graduates alone are eligible.

(iv) All men sometimes fall into error,

Group-C

3. Answer any two of the followings : 10x2=20

(a)

(b)

(c)

(d)

1/73-4000

‘Explain following Copi, Mill’s method of

difference. Does this methed discover and prove

causal relation. Discuss. 6+4

What is meant by existential import of a

categorical proposition. Explain with example.

10

Test the validity of the following arguments by

means of Venn diagram. 5+5=10
(i) EAO-3
(it) EAE-4

Distintuish between Pute and Mixed hypothetical
syllogism. [ Turn ()ve1]9
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